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A= 2x24+5xy—-3y2,B = 4x2 - 5xy +y%,C = —x% + 424 0,
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@ 8x2 - 30xy — 24y?

@D 8x? + 30xy — 24y?
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@ 2x* +2x2-2x-3 @ 2x* +2x2+2x-3

® 2x3 +2x2+2x+3 @ 2x® +6x2-2x+3
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(@a+b+c)?
= { + ¢}
=E2+2(a+b)xg+c2
:a2+E+b2+2ca+2bc+c2
=a® 4+ b% + 2 + 2ab + 2bc + 2ca
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2 (a+b+c)? =a®+b?+ %+ 2ab + 2bc + 2ca = Ho|=



6. (x—2y-32)2L At xof gt B0 2 He|shH?

D x? +4y? + 972 — 4xy + 12yz — 62x
@ x% —dxy+4y* — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y? + 12yz + 922 + (—4y — 62)x + x?

® 972 + 4y? + x?



7. (X°-3x"+3x+4)(x*+2x-5) 5 AT Ao A x2 o] A5 F5HH?

® 10 @ 15 ® 19 @ 21 ® 25



8. (2x% = 3x% +3x +4)(3xt 4+ 2x3 = 2x2 — Tx + 8) & HIHTE Alof|A] x3
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@ 31 @ 33 ® 35 @ 37 ® 39



9. o4 (522 +3x+ 1) & AMSIAE W, &* & AeE?

@ 10 @ 13 ® 16 @ 19 ® 25



10. oA x2y(x® + y?) = A7Nstoet
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14. a+b=4,a>+b* =10 W, a° + b° 2] Ft= F5tofeh.
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